EBRAZA / Components

No. # ¥ / Part name #E / Pcs #ME / Material & - RELIE / Color-Finish

1 TL—L 4 7L A A6063S-T5 DIWIN=TFIRAL, TZVIT LAk
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized

2 a—Fr—Jovy 4 ABSHiflg UL94HB SANTL—, T3vH
Corner block ABS UL94HB Light gray , Black

3 J—+—* vy~ /Blind plug 8 ISRk< / TPE 4T L—, T5v% / Light gray , Black
INAAF ISV 1 7ILHR A1100P DIWR=TF AL, TSvy - FEE
Slide panel Aluminium A1100P Silver - Anodized , Black - Painted
Lo/ R 1 7 L4k A1100P DILIS=T LA, TSy - B
Screwed panel Aluminium A1100P Silver * Anodized , Black * Painted
B{TE R (7~ M3 x 15) 16 % =f@oai—tk
Screw (Pan head M3 - 15) Steel Trivalent chromate
ERAHE R (EEF 5L M3 x 5) 10 &% YTV AYE | SR AA—+
Screw (Slotted raised countersunk M3 — 5) Steel Nickel plated , Black trivalent chromate

2

S ;A 2
~ P~
® ®
Z P 2
o > 2
2 S

; . >
3 & o
L& = S
i S
4 V ||| %
i)
T—AEE FCS - - 38
Product Number
w D BiES
Color Code

W, D T HIBR&EEH / Dimension limit range

W D

591

~ 1000

390 ~ 590

& &

ITAKACHII XSt hFERTE

4 /Title

) —H AL XRYI R
CUSTOM DIMENSIONS BOX

S
S

BiEk BUFEFRED) / Color Type (End product numberd) TAKACHI ELECTRONICS ENCLOSURE CO., LTD.
50+ / Code JNAR)L / Panel JL—.Ls / Frame d—7— / Corner T rroved | BE orecied E—
GSS < )LsN— / Silver < )Ls\— / Silver SAMJL— / Light gray
BSS < JLiN— / Silver L JL7N— / Silver J5w% / Black
BBS < JLsN— / Silver 7594 / Black 7594 / Black iR A HEl
BBB 75974 / Black TS99 / Black 7574 / Black

B F /Product number

FCsSO-[-3800 (W591~1000 , D390~590)

RE/Scale

{ERX B /Date

2019/09/03




L —L348] / Frame3 side

b

D (390~590)

i

JL—L148l / Framel side

i b

L —L48] / Frame4 side

W (591~1000) 37.9
=— B
4
A
B B
<— B

L —L248] / Frame2 side

i i

A-A(1:7)

INARAFINRILE RN~ % / Slide panel Max dim. W-30

Bxh~Ti% / Max dim. W-36

S ———————————

RUELEH/NRILEZNT% / Screwed panel Max dim. W-36

B-B(1:7)

B#h~ti% / Max dim. 31.5

BH#~tiE / Max dim. D-36

INAPAFINKILE R T % / Slide panel Max dim. D-30

16.1

LD/ NRILEBTE / Screwed panel Max dim. D-36

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
2)—H A XRyIR
CUSTOM DIMENSIONS BOX

S
S

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

il

B F /Product number
FcsSO-O-380 (W591~1000 , D390~590)

RE/Scale
1:7

{ERLH /Date 2019/09/03




10.4

10.4

4.05

14.7

8.7

7.75

18 37

8.7

17.7

7.75

36.9

4-M3

W-36

PIS
o

JL—.s1 / Framel

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
IL—LA1

Frame1

o]

RE/Scale

A& ER/Approved & B /Checked H[X/Created

iR 52 il

B F /Product number
H37.9 — W591~1000

1:3

{ERLH /Date 2019/09/03




P
<

PIS
o

L —.12 / Frame2

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L2

Frame2

o]

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

il

B F /Product number

H37.9 - W591~1000

RE/Scale
1:3

{ERLH /Date 2019/09/03




10.4

10.4

4.05
1.65

4.5

1.2

2.5

14.7
8.7
°‘| 1.8
P
=
9 8.7
17.7

o
l\.
~
e
3.7 s
Lo
'\.
~
4-M3
<
3-M3

D-36

L —.L3 / Frame3

N
~
~N
5
mmfa/Title A —
= A ==
TAKACHI| BHXSHEHFEHRIE IL—L3 O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
e - RE/Scale
733/ Approved 18] /Checked H[X]/Created FIZF /Product number
H37.9 - D390~590 12
iR At ®il 5 /7
YERH /Date 2019/09/03




by

n

a

N A (O L

)

JL—.,\4 / Frame4d

mmfa/Title
= A T ki
TAKACHI| BXSHEINFEHIE IL—L4 () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame4
B v v RE/SCNG
7K 58/ Approved 18X /Checked H[X/Created R /Product number
H37.9 - D390~590 12
iR At ®il 6/ 7

YERH /Date 2019/09/03




B#TiE / Max dim. D-30

B#hTiE / Max dim. D-36

INAAFHINLR)L / Slide panel

B#h~ti% / Max dim. W-30

N JLFRME / Panel Frontside

RLC1E&H /SR IL / Screwed panel

BHh~ti% / Max dim. W-36

INAJLERME / Panel Frontside

fREES —HA

Surface protective film side

fREES — A

Surface protective film side

1.5 W-18.1
o
i
/N JLEME / Panel Backside
10-24.2
15 4-R6 W-185
Lo
~
<t
475 4.75

10

[eo]

A
[Te]
~
ﬁ"

13.75 13.75
I\ JLEME / Panel Backside
G /Title A —
= A == R
TAKACHI| #XEtahFERTE ey O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A& 58/ Approved 18X /Checked #X]/Created B F /Product number RE/Scale
W591~1000 — D390~ 590 18
FiR 4T il 7 /7

{ERLH /Date 2019/09/03




	FCS□-□-38(W591～1000mm、D390～590mm)
	FCS□-□-38(W591～1000mm、D390～590mm)2
	FCS□-□-38(W591～1000mm、D390～590mm)3
	FCS□-□-38(W591～1000mm、D390～590mm)4
	FCS□-□-38(W591～1000mm、D390～590mm)5
	FCS□-□-38(W591～1000mm、D390～590mm)6
	FCS□-□-38(W591～1000mm、D390～590mm)7

